


been applied to noise filters with small capacities. 
Compared with a conventional reactor as shown 
in Fig. 2, a pot-type reactor has the advantage of 
allowing a shorter flux-path length 



(DC) resistance, which increases copper loss (i.e., 
Joule loss).
 The skin depth δ of eddy current flowing in a 
conductor is given by Equation (2):

  ɹɹɹ …………………………………………  (2)

wherein ω is angular frequency, μ is the magnetic 
permeability of the conductor, and σ is the electrical 
conductivity of the conductor. That is, the higher 
the frequency the shallower the skin depth δ. Fig. 6 
shows the relationship between skin depth in copper 
coil and frequency f (=ω/(2π)).
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and operating frequency of 10 kHz, Equation (4) 
yields the alternating current Iac of 11 A. Given the 
AC resistance of 7d
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and the inductance at 10 kHz is appro a



accommodate high current, which are to be 
downsized, will enable the gaps to be widened to 
suppress the magnetic saturation at high current and 
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